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ITE4 SI6EE THMHEERBESE: HEBEIE (H4) EEXRS E PR A A
miE mMEFHUE Eny iR KfER ITERXRS HEELRE
TERS - T - &5 - #5 % B | #E (FIE) #H=E (5ME) WMEER BE
EERTT =
EHIT =
HEHI T m3 140 140.0
KEtAET =
T HEER T m3 150 150.0
RiIFENn
BtELS TN E m3 150 150.0
HET =
SEERT =
REEEIE wWREMHY m1 2,450 2450.0
M-25 t=2cm
RRERIE HEMEL m2 357 357. 4
FTAI77ILhGHET =
HBREL (FE) BEYV v v—35 RC-40 m3 70 71.5
t=20cm
HREL (LB FIER R AM-40 m3 50 53.6
t=15cm
== BAEZRET X2 20F m2 12 72.0
IR t=5cm Pt-60~Pt0
=2 BAEZRMET X2 V20F m2 285 285. 4
(BRI EB) t=5cm
== BAEZRMET X2 U20F m2 2,450 2450.0
(FH3E) t=5cm 3. Omit&
Bk EYM T =X
fEEXLT
PR fES KREGFES LY m3 5 5.4
HEL m3 3 2.7
fAliET m
B A EAE 300300 m 9 9.0
BZE 3004 ® 9 9.0




ITE4 SI6EE THERBESE HXEBEREIS (&%) FERR B R
miE mMEFHUE B4R KER ITERXRS HEEE
TERXS - T - 1E5 - #5 % Hf1 | #HE (FIE) HE (5ME) WMEER BE
BEYEEL =
BEYRZELT =
EE el FTRAI7IL % m 70 70.0
t=15cmLF
L IR R AR TRAI7IL R m2 2,450 2,455
t=15cmLLF
EHROET =
% B FRARI7ILERER m3 123 122. 17
A0 5 TRAI7ILEER t 282 282. 3
XE#RT =
XE#HT =
A v FRRE R SMAIER EHR B W=15cm m 620 620.0
g B B w=1bcm m 160 160.0
+J5 E BAE w=30cm m 80 80.0
FEERET
RBEFEZERE HWET H-A 40 40.0




=t g E (REBOH)
% FR & " % £ 2
BEYEELT
BT = 70 + 80 + 6.0 + 10
+ 21.0 + 7.6 + 10.3 69.9 70 m
Bk LEE T
BOEME (As) = 2454.8 x (.05 122.7 123 m3
A5 (As) =122.7 x 2.30 282. 30 282 t
HEEET WMEmEEELY
RREEEIE = 2454.8 2454. 8 2450 m2
AT MERSE T
=BT
(E3E - BiEED) = 2454 .8 2454 .8 2450 m2
XE#ET REHIHEELY
SMENER = 620.0 620.0 620 m
R = 160.0 160.0 160 m
ISV —> = 80.0 80.0 80 m




No.1

WHET HENAEE (REBEOH)

P 28 EHER . g
(ol ) i

REDH

Pt.0.0 7.00 - - -
Pt.20.0 6.80 6.90 20.00 138.00
Pt. 28. 0 6. 80 6,80 800 54, 40
Pt.28.0 8.00 7.40 0.00 0.00
Pt.36.0 7.80 7.90 8.00 63. 20
Pt. 36. 0 6.70 7.5 0.00 0.00
Pt.40.0 6.70 6.70 4.00 26. 80
Pt.60.0 6.90 6.80 20.00 136.00
Pt. 80. 0 6.70 6.80 20,00 136,00
Pt.100.0 6.90 6. 80 20.00 136. 00
Pt.120.0 6.90 6.90 20.00 138.00
Pt 121.0 6.90 6.90 1.00 690
Pt.121.0 7.50 7.20 0.00 0.00
Pt.127.0 7.40 7.45 6.00 44.70
Pt 127.0 6. 20 6.80 0.00 0.00
Pt.140.0 6. 80 6.50 13.00 84.50
Pt. 147.0 6. 80 6,80 7.00 47, 60
Pt. 147.0 7.70 7.5 0.00 0.00
Pt.158.0 8.10 7.90 11.00 86. 90
Pt.158.0 9.30 8.70 0.00 0.00
Pt. 160.0 9,30 9.30 2,00 18. 60
Pt.168.0 9.30 9.30 8.00 74. 40
Pt. 168.0 7.10 820 0.00 0.00
Pt. 175.0 7.50 7.30 7.00 5110
Pt.180.0 7.00 7.25 5.00 36. 30
Pt. 194.0 750 7.5 14,00 101,50
Pt. 200.0 7.50 7.50 600 45,00
Pt.211.0 7.50 7.50 11.00 82.50
Pt. 211.0 810 7 80 0,00 0.00
Pt. 214.0 820 815 3.00 24,50
Pt.214.0 8.60 8.40 0.00 0.00
Pt. 220.0 8. 60 8. 60 6.00 51,60
Pt. 240.0 8. 40 8,50 20,00 170.00
Pt.260.0 8.10 8.25 20.00 165. 00
Pt. 280.0 820 8 15 20,00 163. 00

@ 7.50 -
D+13.0 7,60 755 13.0 98. 20
INET 1925. 10




a b c s miE
@ 8.20 19. 30 21.40 24. 45 78.998646151
@ 14. 80 21.40 27.10 31.65 157.708260227
©) 7.50 23.00 27.10 28. 80 17.7172221262
@ 6.70 45.00 41.00 46. 35 115.210016898
®) 10. 30 41.00 32. 30 41. 80 100.034594016

h 529. 72 0.0 0.0
& 2454. 82
(m2) (m2) (m2)




£t g £ (REBEHEI)
£ R it =1 it 5 s
EHEIT BEEEIEELY
HEEI Vv 357.4 x 0.40 143.0 140 m3
BT AET
TR ENK m3 143.0 + 2.70 (fEEHEELY) 145.7 150 m3
Rt ZE0s m3 143.0 + 2.70 (fEIEHEELY) 145.7 150 m3
HEERET BEERITEELY
TEEE A =2357.4 357.4 357 m2
TAI7WMEREE T
TE
(BRHEHE T £0) A =357.4 % 0.2 71.5 72 m3
tE
(BRHEHE T £0) A =2357.4 % 0.15 53. 6 54 m3
KEIT (Pt-60~Pt0)
(BRHEHE T £0) A =720 72.0 72 m2
xBT
(BRHEHE T £5) A =2357.4 - 720 285. 4 285 m2




No.1

WHET mERAES (BREEIH)

fir B [EE] J EHIEE & o =
- i

&[]
Pt.0.0 0.70 - - -
Pt. 20.0 0. 90 0. 80 20. 00 16. 00
Pt. 40.0 0. 80 0. 85 20.0 17.00
Pt. 60.0 0.70 0.75 20.0 15. 00
Pt. 80.0 1,00 0. 85 20.0 17.00
Pt. 100. 0 0. 90 0.95 20.0 19. 00
Pt. 120.0 0. 90 0.90 20.0 18. 00
Pt. 140.0 0.90 0. 90 20.0 18. 00
Pt. 147.0 0.90 0.90 7.0 6. 30
Pt. 168.0 1.30 - - -
Pt. 175.0 0.70 1.00 7.0 7.00
Pt. 180.0 0. 60 0. 65 5.0 3. 30
Pt. 194.0 0. 60 0. 60 14.0 8. 40
Pt. 200. 0 0. 60 0. 60 6.0 3. 60
Pt. 211.0 0. 60 0. 60 11.0 6. 60

INE 139. 20




v B LEE] EHES & # =
(B =) iR
Al
-Pt.60.0 1.2 - - -
Pt.0.0 1.2 1.20 60.0 72.00
Pt.20.0 1.2 1.20 20.0 24.00
Pt.28.0 1.2 1.20 8.0 9.60
Pt.36.0 1.1 - - -
Pt.40.0 1.1 1.10 4.0 4.40
Pt. 60.0 0.6 0.85 20.0 17.00
Pt.80.0 0.6 0.60 20.0 12.00
Pt.100.0 0.4 0.50 20.0 10. 00
Pt.120.0 0.6 0.50 20.0 10. 00
Pt.121.0 0.6 0. 60 1.0 0.60
Pt.127.0 1.2 - - -
Pt.140.0 1.2 1.20 13.0 15. 60
Pt.158.0 1.2 1.20 18.0 21.60
Pt.168.0 0.9 - - -
Pt.175.0 0.6 0.75 7.0 5.30
Pt.180.0 0.4 0.50 5.0 2.50
Pt.194.0 0.4 0.40 14.0 5.60
Pt.214.0 0.4 0.40 20.0 8.00
& 218. 20
o~ 5 357. 40
(m2) (m2) (m2)




No.

XE#R T B g £
A p3EiS E =1 = B | #H 8
s B w=150m fg |L7299.3+316 = 6153 m 620
316/2
iR B w=15cm i = 158.0 m 160

t?%‘/—‘/ BH w=30cmZE#|[80m 80.0 m 80




No.

Il & T B g £
A R g =X Bl W=
B f A EREIE [s00%30042000  |ET90 = 90 m 9
ﬁ*ﬁi RIEETEEZ KLY  0.6%9 = 54 m3 5
iEEL’ EHE%'%%J:U 0.3%9 = 27 m3 27
RIELS 54-2.7 = 27 m3 2.7
- 9/2%2
R= 300/ 9.0 ® 9




ERHETE fEmEIPEYR KER

(No.

)

R

12

it ®
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BT iRh EXaEp

BER
P EJEE%J'E C %ﬁﬁzﬁhﬁ) B qéi@@%;ﬁ%“? ) i‘@‘#if(rrf) iEEB(nf) EEAB}%
Pt.112.0 | 112.00 0.6 0.3
Pt.121.0 | 121.00 0.6 0.3 0.6 0.3 0.0 9.0 5.4 2.7 0.00
&t 5.4 2.7 0.0
SIS 9.0 m




No.

TEFYEHE E
A p3EiS = Hfu| # 2
ST AxE 8 3*10 = 300 |A-H 30
2%5
f;iET AxB# = 10.0 A-H 10

40




XE#R T

feln
Ei!
i}
st

F 3041 A 18 LA @ A AR

XERIOEENTIDOHFDSE

AAtn [ ]
YRR D |gudym REET EHE (M)
%2 B FRAE - AR RAHE ey D/
(m) ETOER |#-FDH [MHBEDOH

RERIORENERHDEE

Rk @ E%%U*ﬁ EQE E'I'J:*ﬂ%(m)
Ee & - JAE - AR BHUE g D /@ «
(m) 2TOER |H-FDH |HHEOH
1|Raorzt maat JHE £ 15em HAKRE 620 3,000 0.2067 2.36 - 732 620
3| Rsobt mEE EHE BEH 15cm HARM 160/ 2,500 0.064 2.36 - 189 160
655 €77 30cm AR 80 525| 0.1524 2.36 - 94 80
B 0.423

RE#HRHEE(Vr—5—C oK) ZHBEICAWSIEES

@
@ s = e
I Sl = -UZ JEtE =1
Loy 275 e - 4% satmn | T | @
(m)




